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100 pt. total. Answer in the space provided.

1. (15 pts.) You own a small woodworking business, and specialize in making high-
end furniture. Production of walnut armoires is characterized by the following
production function: Q=2KV3L2/ 3 where Q represents output of armoires and K
and L represent units of capital and labor used in the production process.

a) Draw the isoquant corresponding to Q=4.

b) If w=8 and v=4, where w and v are the per unit prices of labor and capital,
respectively, what combination of L and K should you use to produce 4
armoires? e, 203
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2. (15 pts.) The American Alligator Association is a trade group that represents
alligator farmers in America. Right now, the industry is in long-run equilibrium.

As president of AAA, you see an opportunity for alligator farmers to increase

their profits. Next month the association is having its annual convention in Baton

Rouge, and every alligator farmer in the country will be present. You would like

to make a presentation to the group and explain how they can each make above-

normal profits if they will cooperate and act in unison, rather than competing so
vigorously with one another.

a) Using diagrams for the alligator market and for a representative firm, explain
how an alligator cartel could accomplish this.

b) What are the long-run prospects for such a cartel, assuming that it is initially
successful? Explain your reasoning using the same diagrams that you
introduced in part (a).
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3. (15 pts.) You own and operate a fast-food restaurant near the UK campus. Your
cost function is given by C =900 + 60Q + 9Q%. Demand for meals at your
restaurant is given by P = 660 — 16Q.

a) What price and output should you choose in order to maximize profit?
b) Predict the future in this market given the above information.
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. (15 pts.) One large pig and one small pig are placed in a box. Atone end is a
lever which when pressed causes a dispenser at the other end of the box to release
ten units of food. The effort expended in pressing the lever costs each pig two
units. If the small pig presses the lever, the big pig eats nine units of food and
only one unit is left for the small pig, so the small pig receives a payoff of -1
units. If the big pig presses the lever, the small pig can consume four units of
food by the time the big pig has crossed the box. If both pigs press the lever, the
small pig can get to the food first, but can only consume three units of food by the
time the big pig arrives and shoves it aside. If neither pig presses the lever, each
gets zero.

a) Ilustrate the payoff matrix for this game.

b) What do you predict will be the outcome and why?

c) Is your predicted outcome a Nash equilibrium? Explain why or why not.




5. (15 pts.) Consider the following game:

C1 C2 C3 C4
R1 Ny 8@ 0,6 \ 2,6 /
R2 76) 2,3 5,1 \[7]/

R3 0,4 >5,s<¢

R4 4,6 Es Lo / I,IY-

Using the iterative elimination of never-best responses, find the set of rationalizable

strategies. Find the Nash equilibrium.
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6. (15 pts.) Players 1 and 2 play a sequential game. Player 2 moves first, then player
1 moves second, and finally player 2 moves again. Their strategy choices and
payoffs are illustrated in the game tree below. Note that player 1’s payoff is listed
first and player 2’s payoff is listed second.

a) What do you predict the outcome of the game will be? Explain why.
b) Suppose player 1 tells player 2 that she will play a; on the second move if
he plays b; on the first move. Now what do you predict will be the

outcome of the game? Why?
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7. (10 pts.) What did William the Conqueror and Cortes both do, and why was it a
successful strategy?



